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Stos - funkcje i procedury

STRUCT-STACK
datall..5]
top = 0
STACK-EMPTY (S)
PUSH(S,k)
POP(S)
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Kolejka - funkcje i procedury

STRUCT-QUEUE

datall..5]
length = 5
head = 1
tail = 1

QUEUE-EMPTY (Q)
ENQUEUE(Q, k)
DEQUEUE (Q)



STRUCT-STACK S

INIT(S) /*inicjuje zmiennex/
PUSH(S,1)

PUSH(S,2)

WRITE(S) //1 2

PUSH(S,3)

WRITE(S) //1 2 3
WRITE(STACK-EMPTY(S)) //false
PUSH(S,4)

PUSH(S,5)

PUSH(S,6) //nadmiar



WRITE(POP(S)) //5
WRITE(POP(S)) //4
WRITE(POP(S)) //3
WRITE(POP(S)) //2

WRITE(S) //1

WRITE(POP(S)) //1
WRITE(POP(S)) //niedomiar
WRITE(S) //
WRITE(STACK-EMPTY(S)) //true



Kolejka
[ Je]
Kolejka

STRUCT-QUEUE Q

INIT(Q) /*inicjuje zmiennex/
ENQUEUE(Q, 1)

ENQUEUE(Q, 2)

WRITE(Q) //1 2

ENQUEUE(Q, 3)

WRITE(Q) //1 2 3
WRITE(QUEUE-EMPTY(Q)) //false
WRITE(DEQUEUVE(Q)) //1
WRITE(DEQUEUE(Q)) //2
ENQUEUE(Q,4)

ENQUEUE(Q,5)

ENQUEUE(Q, 6)

ENQUEUE(Q,7)

ENQUEUE(Q,8) //nadmiar



Kolejka
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Kolejka

WRITE(Q) //3 4567
WRITE(DEQUEUE(Q)) //3
WRITE(DEQUEUE(Q)) //4
WRITE(DEQUEUE(Q)) //5
WRITE(DEQUEVE(Q)) //6
WRITE(DEQUEUE(Q)) //7
WRITE(DEQUEUE(Q)) //niedomiar
WRITE(Q) //

WRITE (QUEUE-EMPTY(Q)) //true



	Stos
	Kolejka

